1. A=3V3+7V3-2V3,B=8vV6-9v6-14V6 & 1, A + B9
4 N4

®© -7V3 @ -76 ® -8V3+15v6
@ 6vV3-5v6 ® 8vV3-15v6



2. V(5-2V5)2+ /(2V5 - 5)2 & 21 8 a4 b5 oltk. 5
a b 9 27

O -4 @0 ® 3 @ 6 ® 11



S «/E+2«F—% o vl Axket 219

O V2 @ 22 ® 32 @ 42 ® 52



57
24

47
- 3
24 @

23
12



5. V192- V54— VI08+ V24 EaV3+bV6 Q) BER2 1A ], a—b 9
e FohH?

D1 @ 2 ® 3 @ 4 ® 5



VB(V2-V6) V-1, 2V2 o i
V96 S5 e - s S B k] o

©) 4(—2{—%\/5—3 ©) 4\/6+%\/_—Z\/§—3
® 4\/_—2\/3—1—%\/5—3 @ 4\/'—2\/_—2\5%
©4w/6+gw/§+2\/§—3



o

ojn

Vi2+ V3 - V48

® 243

@ V3
® 7V3

@ 23



8. 12(3V10- v2)- V2(8V5-1) =aV2+bV10 L W, a+b ] 3t2?
(&, a, b= FEoltt)

@ -5 ® 10 @ 17 ® 23

@ -11



\/_
8-2V3+6V3

k
—(V3
;§S—V®+
24 k 9] 27
ON]
@ 4

V2

9,] ZF
gol &
27t HE s

@ -6

® -10






11.

V2 V2

2+ V3 2-3

O -2v6
@ 22

= Axtsha?

@ -6
® 42

® V6



12. o5 59 229 felePt 9 A0

V2+ V3 V6-2v2  5v2-3v6

\/_\/__\/g_—5—2\/6 ©) \/§\Fr1 = 5

2 442

® 3_2\/§=3\/§+4 @ 2_2@:’2‘/§+4
1 \5-1

Vi+1 4






14.

FATA S ol gate] Yoo V3 N3+ V5

R R Lk

@ 2V15 ® -8
® 8-2+15



3

3 —
T E T -

0w x4y o e T2

@% @? ®2v3 @ 5v2 G 245



16.

ohe 1T 22 AFZHollA] wol
7F(946V3)em? & W, a+b 9]
e Foti? (Ha, b FE)

\
\
/M
!

\\““(a+b/§)cm—"’— .

@ 11 ® 12



17. the 239l A2y

o

391 AAFZFgo]ch




18.

A% a b7ba=VE-3,b=-Vi+ VEL W, S F &L
A2

®a-b>0 @ b-a<0 ® b+ V7>3
@ab>0 ©a+1>0



19.

Al A4 A= V204 V80, B= V21+ V79, C = vV22+ V78 9] t4&
BAZ} EIEA ALY

O A<B<C @ A<C<B ® B<A<C

@ C<A<B ® C<B<A



20. V2139 2 At sk, VB =1.552 9 uf|, A, B 9] gt-S vF2A| 15t

AL

- 0 1 2 3

2.0 | 1,414 1,418 1.421 1.425

2.1 | 1,449 1,453 1,456 1,459

2.2 | 1,483 | 1,487 | 1,490 | 1,493

2.3 | 1,517 1.520 | 1,523 1.526

2.4 1 1,549 1,552 1,556 1,559

@ A:1.517,B: 2.32 @ A:1517,B: 241
® A:1.459,B: 2.41 ® A:1.459,B: 2.33

® A:1.414,B:2.03



21. =9 B AlEEEY

o ghe ot?

O 1.414

@ —2.449

o]}, o] EZ ol gte] —

T 0 1 2
1 1,000 1,005 1,010
2 1.414 1.418 1,421
3 1,732 1,735 1,738
4 2 2.002 2,005
o 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 | 2.648 | 2,650
8 2.828 | 2.830 | 2,832
@ -1.732 ® 1.732
® 2.449



22.

o 3 V23 = 4.796 Y2 ol-goto] Ao ahE T £ A= A
R RN

@ v0.023 © V230

® +V0.23 ® V23000

@ o7 @ 171

® 274 @ 371

® 470

Mo



23.

= % 3 ¥4 Atolof Sl e BF R AN (F, AlaZEelA

V3 = 1.732 o]t})
H7]

VT[S [T VB 1 VIS, 3VE, 24341, VIO

@ 87 @ 770 @ 671 @ 571 ® 47



24. 3T RES e, 2T FESH SR T, 2a+b 9 T2 Gl
7}

D V3 @ 1+ V3 ® 2+ V3
@ 5 ® 2+23



25. 2+ V5 A RESa, 2T HFREbH T U, 20+ 9] S

Fohw?

D 4+ 5 @ 4-+5 ® 6- 5
@ 6+ V5 ® 8+ V5



